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fEdl 1. 5
/yd;v+zdy+;1:dz
L

Fob LAFE z+y=2Rd 2” +y" + 27 =2z +y) ARG E A, WE&AF, R4 T 62l &
L 6974257 @

fEdl 2 (P225-4). &) KiE, o RASHAX P M 2K PQ #H L 52— 2L =1, MEK D #@# o(D),
TRAR 0(D) = [y, Pde + Qdy K43

b) & z,y AF@ELOEFRAEG, v A FEE-FEE (TRRA). LARS fvydzv 89 JUAT & L.
Wbt A, EAAEA X
o(D) = —/ ydx.
aD

c) HAXANXKRREE D = {(z,y) ER?| 4 4 ¥ < 1} @ AR, IRIE b) ¥ 49 A X,

el 3 (P225-5).  a) & o =a(t) RMEH D, CR? L6 FIAE. £ 8 A 4 69258, R H &R
R F A4 A AR RZA KM, KIE:

/ dr = |’ (t)]dt,
D:c Dt

b dr = dztdx?, dt = dt'dt?, |2/ (t)] = det 2/(t).
b) & a) FH_EFRyFHE BT HHRAX
/ fx)dr = [ f(x(t))|det 2’ (t)|dt.
D, D,

{EMl 4 (P245-1). A F grad, rot, div AR HEH. BIEL T & X, A # 4 grad, rot, div Jefefil & b
* T grad:

a) V(f+9)=V[f+Vy,

b) V(f-g)=fVg+gVFf,

¢) V(A-B)=(B-V)A+ (A-V)B+Bx (Vx A)+ Ax (V x B),

d) V(34%) =(A-V)A+ A x (V x A).



% F rot
e) VX (fA) = fV X A+VfxA,
f) VX (Ax B)=(B-V)A—(A-V)B+(V-B)A— (V- A)B.
#F div
g) V- (fA)=V[f A+ [V A,
h) V- (AxB)=B-(VxA)—A-(V xB).
fEdl 5 (P245-2). &) # (20)-(22) A# TR &G F R 245 .
b) B A 697k IiE (20) XA (21) K.
c) BiE AT ORE TR AR XA AKX (24).

d) RETFV 58AK (24), St Am=REKBIEE.



FEEE 1.
/yd$+zdy+$dz:—//(dy/\dz+dz/\dx+dm/\dy)
L D

ZED:={(z,y)|z+y=2 (z-12+(@y—1)°+2" <2}, BREHTRA

xr = 1+rsind
= 14 rsinfd (r,0) eI :=={0<r<1,0<0<2n}
2 = +/2cosf
7 g—z =rcosf, % = —rcosé, % = —\/2rsiné, % =sinb, % = —sin6, % =/2cos¥.

F = //dy/\dz+dz/\dac+dmAdy
D

= /(—ﬂr cos? 0 — V/2rsin® @ — v/2r cos? § — V/2r sin® @ — rsin 6 cos 0 + 1 sin 6 cos 0)dfdr
I

1
= —2\/§/rd9dr = —2\@-27r/ rdr = —2V/27.
T 0

X B A e ANRE4, [ yde 4 zdy + xdz = F = —2/2r.

AL 2. a)

o(D) = / 1-dxdy = / <68§2 - ?:)P) dxdy = Qdy + Pdx.
D D Y aD

b) 3T v #9R EFLES A ab, &y AL, W a=b.

/ydx+/ydx+/ydx—/ ydx——// dxdy.
Y l1 la oD D

S, vdz =0, [, ydr = ya (v —2,). B fv yde = — [[, dedy — yo (o, — 24). B fy dx 8 JUT & &
W&y RSUE ARS8 f A R, Sy WA, [ ydr = yu(zy —2,) =0, 0(D) = —fyydm =

— [op yde.
c) 4 x=acosl,y=>bsind, N

2 27 1— 0
o(D) = —/ —bsinfasin 6df = ab/ %d@ — mab.
0 0

BB 3. a) 4 Q=2a",P=0, NA

/ dx:/ xtdz?.
D, aD,

Zit—F, KRNA

or? or?
ldx? = / Lt ¢2) [ =—dtt + =——dt?
/6Dm v * D, x ( ’ ) (9151 + 8t2



—dttdt® + = = attdt®

/ _871:1 Ox? Ozt Ox?
L, OF on att o2

= |z (t)|dt.
D,
b) EMLTHE, 8.
FREAEAL 4. a) TRiEH grad(f - g) = f - gradg + g - gradf,

0f+g+6 3f+g+e of +g
ox! 2 2 3 g3

b) k&K A grad(f - g) = f - gradg + g - grad f, JEBA 5.
c) ThikA grad(A- B) = (B -grad)A+ (A-grad)B + B X rotA + A X rotB.

grad(f +g9) =e1 = gradf + gradg.

0AIBI
grad(A-B) = Z AW
1<4,5<3
DA% 0A? 0AY  0A3 0AY  0A3
Bx(gradx4) = B((w‘m%(&;‘m%(m‘m))
. 0 5 0 3 0 1.1 2.2 | 43,3
(B-V)A = B%+B@+B% (A'e’ + A%e” + A'€”).

E-SiV=RhEe
d) 4c) ¥ B=A, T4
e) T ki A rot(fA) = f-rotA+ gradf x A.
f) TAikA rot(Ax B)=(B-V)A—(A-V)B+ (divB) - A — (divA) - B.
g) TR A div(fA) = (gradf) - A+ f - divA.
h) T & ik % div(A x B) = BrotA — ArotB.

BB 5. a)

of of of
rotgrad f = rot (8:10161 + @62 + 83:363)

_ . 0% f B 0% f N 0% f B 0% f n 0% f B 0% f _0
= '\ 022023 023012 ©2 0x30zr  Ozlox® s Orlox?  Ox20x' )

) ) 0A3  0A? oA A3 0A% Al
divrotf = div ( e; — + e — + e _ 7

822 01 923 Ozt ozl 022
L0 (04 o\, 0 (04! oA’ 0 (oA oAl _
Ooxl \ 0x2  Ox3 Ox2 \ Ox3  Ox! Ox3 \ Ox! ox2 )
. 0% AJ
graddivAd = Z ( €; (&L'ixj) ,
1<4,5<3
3

0% A 0% A’
rotrotA = Zei; <8xixj — 8xjxj> ,
VE)

i=1



divgradf = div elﬁ + es——= +e3——
oxl!

af af>:Af_

0x? ox3

rotrotA = graddivA — AA

Vx(VxA)=V(V-A) - VA

Fl Ax (BxC)=B(A-C)—C(A-B) % T3



